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Extended Abstract

We consider the issue of patent licensing in a linear city framework where firms are located
at the end points of the city and compete in price. We focus on the optimal licensing strategy
of an outsider patentee (independent innovator) as well as an insider patentee (incumbent
innovator). In the case of outsider patentee where the patentee faces two competing firms,
considers three types of licensing arrangements to offer, namely, auction, fixed fee and
royalty. We show that auction and fixed fee yield equivalent payoff to the patentee, and only
one of the competitors is offered with the license irrespective of the nature of innovation i.e.
drastic or non-drastic. On the other hand, in the case of royalty licensing both the competing
firms are offered with the license irrespective of the nature of innovation. Moreover, contrary
to the findings of the existing literature on patent licensing when the patentee is an outsider,
we show royalty licensing is better compared to auction or fixed fee asit always yields higher
payoff to the patentee. In the case of insider patentee with a rival competitor, we find
licensing by means of royalty is superior to no licensing or fixed fee licensing to the patentee
when the innovation is nontdrastic. When the innovation is drastic no licensing is optimal to
the patentee. We aso focus our attention to the much debated issue of incentive for
innovation and show that in a spatial framework like this, incentive for innovation is higher
for an outsider patentee compared to an insider patentee. Finaly, we do some welfare
analysis where show that overal increase in welfare due to innovation is independent of the
fact that the patentee is outsider or insider in each of the drastic and non-drastic case.



1. Introduction

Patent licensing is a fairly common practice that takes place in aimost al industries. It
isasaurce of profit for the innovator (also called patentee) who earns rent through licensing a
patent. The most common modes of patent licensing are: a royalty on per unit of output
produced with the patented technology, a fixed fee that is independent of the quantity
produced with the patented technology, or auction certain number of licenses i.e. offering a
fixed number of licenses to the highest bidders. There is a vast literature (see Kamein (1992
for a survey on this) which studied the optimal licensing arrangement by the patentee in a
wide variety of situations, and & the same time, studies are devoted to analyze various
aspects of patent licensing. For example, when the patentee is an outsider as opposed to an
insider, or when the competition among the rival firms or the potential licensees take place in
prices or quantities, incentives for innovation of the patentee, or the type of industry structure
where al these issues are considered, whether it is a single-firm industry, oligopolistic one or
a competitive industry. Interestingly, to the best of our knowledge, al these studies are done
in a standard framework of price and quantity competition. In this article, we introduce the
study o patent licensing in a spatial framework. The fact that so far no study on patent
licensing is done in spatiad framework is somewhat surprising as in genera, spatia
competition is a mgjor area of research in the industrial organization theory, and more
specificdly, in the area where firms behave strategically. Hence, to fill up this void, in this
paper, we discuss some aspects of optimal patent licensing to a particular spatial framework,
namely, the very well-known Hotelling’s linear city model. We study the optimal licensing
behavior (strategy) of an outsider patentee as well as an insder patentee in this new
environment and contrast our findings with the existing results in the patent licensing
literature. We find significant differences in the licensing outcomes arise due to the specific
form of spatid competition we consider here. We believe his makes our study a fruitful
exercise and opens up a new avenue of research in patent licensing.
We consider the issue of outsider patentee and the insider patentee in turn. When the patentee
is an outsider, it faces two firms, i.e. the two potential licensees, who are engaged in a price
competition a la Bertrand, and located at the two end points of the linear city. On the other
hand, when the patentee is an insider, it is also a competitor in the product market, and we
assume it competes with a rival firm in price. Here also lwth firms are located at the end
points of the city. In each of this case, the locations of the competing firms are fixed and both

firms produce a homogenous good. Consumers are uniformly distributed over the linear city,



and willing to buy exactly one unit of the good. In this framework, we do our anaysis of
patent licensing and find the optimal strategy of the patentee in offering the license(s).
Following the literature on patent licensing on the technology side, we consider two types of
innovations, namely, drastic and non-drastic. We completely characterize the equilibrium
licensing outcomes in each of this case, under different possible licensing arrangements of
auction, fixed fee and royalty.

Earlier much has been discussed in the literature about the nature of licensing that should
take place. In the standard models, in a complete information framework® if the patentee
happens to be an outsider, it is shown that a fixed fee licensing is better than per unit royalty
licensing (see Kamien and Tauman (1986), Katz and Shapiro (1986), Kamien, Oren and
Tauman (1992), Kamien (1992) among others), and the reverse happen when the patentee is
an insider i.e. a competitor (see Wang (1998, 2002) Wang and Yang (1999), Kamien and
Tauman (2002)). In this paper, we show the existing result in the literature about the outsider
patentee is not true when we consider licensing in a spatial framework of linear city. We find
offering royalty licensing is always better than fixed fee or auction. Muto (1993) considered
licensing policies under price competition in a standard framework, and like us assumed an
external patentee who is willing to offer licensing contract when two potential licensees are
competing in prices in a differentiated product market. Muto's main result was royalty is
superior to other two polices, namely fixed fee and auction, when innovations are not large
i.e. the innovation is non-drastic. In this framework, we find royalty is always superior to
other two policies irrespective of the nature of innovation i.e. whether it is drastic or non
drastic. Another interesting feature which we note here is that in the case of outsider patentee
licensing takes place even if the innovation is drastic. This is a result that has never been
shown in the literature before with an outsider patentee.? On the other hand, as far as
incentive for innovations by the patentee is concerned, in this analysis, we find that incentive
for innovation is aways higher when the patentee is an outsider as compared to an insider.
This result is in some contrast with the result obtained in Kamien and Tauman (2002), where
they show in a Cournot market structure with two firms, the incentive for innovation is higher
for an insider patentee than an aitsider patentee. We also find interesting welfare and policy
implications. We show that overal increase in welfare due to innovation is independent of

the fact that the patentee is outsider or insider in each of the drastic and nontdrastic case This

! For the patent licensing in an incomplete information framework, see Beggs (1992), Gallini and Wright
51990), Choi (2001), Poddar and Sinha (2002) among others.
In the case of an insider patentee, similar result does exist, see Wang and Y ang (1999).



aso implies that given a degree of innovation, the policy on advocating an outsider or an
insider patentee isneutral from the society’s point of view. Although, we show consumers are
better off if the innovation comes fran the insider patentee.® The consumer surplus remains
unaffectedwhen the innovation is done by an outsider patentee.

The plan of the paper is as follows. Section 2 describes the basic framework. Section
3 considers the case of an outsider patentee. Section 4 considers the case of insider patentee.
In section 5, we discuss about the incentive for innovations by the patentee. In section 6, we

do some welfare analysis, and finally, we conclude in section 7.

2. The Basic Framework

Consider alinear city aong the unit interval [0, 1], where firm A islocated a 0 and firm B is
located at 1 i.e. at the two extremes. Consumers are uniformly distributed along the interval.

Each consumer buys exactly one unit of good. The utility of the consumer located at x1 [0,1]
is given by*
U, =- X- p, if buysfromA
=-(1- x)- pg if buysfrom B
We derive the demand for firm A and firm B by equating the utility of the person who is

indifferent between buying from A or B and obtain:

- D+ - D+
DA= pB 2pA 1 aﬂ DB= pA 2pB 1

Assume the existing marginal cost of production for firm A and firm B are ¢, >0, ¢; >0

respectively.
If these two firms compete in price, the equilibrium prices demand and profits are given by:
po= el p = ey, @
3 3
Cg - Co*+3 Ca-Cgt+3
D, = = GA , Dg = 2 GB ; 2
— (CB - Cy +3)2 — (CA - Cg +3)2 (3)
Pa 18 Pe 18

3 0f course, as we said before, the incentive to innovate for any degree of cost reduction is always higher for the
outsider patentee compared to an insider patentee.

4 This particular formulation of the utility function in a Hotelling’s linear city model is typical, see Shy (1996,
2000), Shy and Thisse (1999) among others.



3. The Case of Outsider Patentee
Let’s assume pre-innovation marginal costs of the existing firmsare ¢, = ¢, =c. An outsider

patentee (independent innovator) comes up with a cost reducing innovation, which could
lower the marginal cost bye > 0. We say that the innovation is drastic if one firm buys the
license while the other firm does not then the unlicensed firm is unable to compete anymore
and goes out of business. For example, if firm A buys the license and firm B does not, then

because of competitive disadvantage D, becomes 0O, and as aresult firm A serves the whole
marketi.e. D, becomes 1 This is the case when the innovation is drastic. Whereas in case of
non-drastic innovation, in spite of cost disadvantage, D, till remains positive after firm A
becomes the only license holder. Now, using the equilibrium demand (from (1)), the above is

same as saying as long as O0<e <3, the innovation is non-drastic and whene 3 3, the
innovation is drastic.

3.1 TheLicensing Game

The outsider patentee has got three licensing policies to offer: auction, fixed fee, and royalty.
We consider a three stage game where in the first stage the patentee decides on a licensing
policy among the above three policies and announces the number of license to be offered In
the second stage the firms simultaneously and independently decides whether to accept or
reject the offer in case of fee and royalty policy, or they simultaneously bid for license in case
of auction. And in the third stage the firms compete in price in the market depending on the
availability of the technology inherited from the second stage of the licensing game. We
focus on the subgame perfect equilibrium of the game. We first consider the policy of
auction.

3.1.1 Auction Palicy
In case of auction in the first stage the outside patentee decides whether to auction one or two
licenses. In case of sdlling two licenses the patentee has to fix the minimum price for the bids.

We will analyze two cases i.e. non-drastic and drastic innovation in turn.

3.1.1.1Non Drastic Case (0 <e < 3)
(i) First, consider the case of one license being auctioned Then in the second stage the two

firms bid and the highest bidder is awarded the license. In case of aftie, the patentee chooses



the licensee at random. In this auction we can calculate the bid any firm will be willing to
make for the license. In case of success a firm will produce with that technology and the rival
firm produces with the old technology in the third stage of the game. As aresult, the licensee
(L) and the non licensee (NL) get the payoff

2 2
L % NS % (use equation 3 in section 2to derive these expressions)

Thus, a firm would aways be willing to bid the difference between these two payoffs and

one of the firms will be awarded the license at random. Thus, auctioning one license, the

outsder patentee receives ée :

(if) Now suppose instead of one license the outside patentee decides to issue two licenses in
auction. Then the patentee has to fix a minimum bid and any firm bidding higher than that
amount would be awarded the license. In case of both firms being awarded the license the

output market competition will have two firms with the same technological capability and

thus the payoff to the each firm will be % In case a firm does not bid higher than the

minimum bid, but its rival bids higher than the minimum bid then the payoff to the non

(3-e)f

licenseeis p,, = 5

. Thus, a non licensee would always bid for the technology if the

(B-e)f

minimum bid is not greater than % . Thus, with this minimum bidding price, both

firms will bid and receive the license and therefore the patentee would receive the pay off

1. B-ef
g

Lemmal

By comparing the payoffs from auctioning of one and two licenses, we find that auctioning off
one license is drictly better than the auctioning off two licenses when the innovation is non-
drastic.

3.1.1.2 Drastic Case (e?® 3)
(i) If one firm is offered the technology in auction then any firm would bid (e - 1) as the
unsuccessful firm will go out of business and earn zero profit. The market will be served by

the successful firm under monopoly and the optimal price charged by the firm is(c- 1). Thus,



by auctioning one license when the technology is drastic the patentee receives the payoff

e-1).
(ii) Suppose the patentee decides to offer two licenses under auction. Then the minimum
bidding price has to be such that both firm prefers to bid than no bidding. Note that once both

licenses are granted then in the third stage of the game both firms will earn a profit 1 each.
And a firm gets zero if it does not bid for the technology. Thus each firm would be willing to

pay at the most % Thus by offering two licenses under auction the patentee receives

£+E =1
2 2

Lemma 2

By comparing the payoffs from auctioning of one and two licenses we find that auctioning off
one license is strictly better than the auctioning off two licenses when the innovation is
drastic.

Here, we summarize the outcome under auction policy.

Proposition 1
Under auction policy, the outside patentee always offers one license irrespective of the

amount of cost reduction. In case of non-drastic innowation the patentee receives %e andin

case of drasticinnovationit receives (e - 1).

3.1.2 Fixed Fee Policy

In the first stage of our licensing game the patentee announces whether it wants to offer one
or two licenses and the corresponding fees. In the second stage firms decides whether to
accept or not, and in the third stage they compete in price.

3.1.2.1Non DrasticCase(0<e < 3)

(i) Suppose the outside patentee decides to issue one license. Then the most the patentee can

charge asfixed feeis %e . The argument is same as in the auction case 3.1.1.1 (i).



(ii) In case the patentee decides to issue two licenses then the amount it can charge to each

party is what is the minimum bid fixed in cese of auctioning two licenses, which is

2 2
%- %. Therefore the patentee would receive the payoff 1- M :

3.1.2.2 DrasticCase(e 3 3)
(1) Suppose the outside patentee decides to issue one license. Then the most the patentee can

charge asfixed feeise - 1. Same argument as in auction in 3.1.1.2 (i).
(ii) In case the patentee decides to issue two licenses then the amount it can charge to each

party is % . Therefore, the patentee would receive the payoff of 1. See 3.1.1.2 (ii).

Proposition 2

In the case of fixed fee, the outside patentee would always offer one license irrespective of
the amount of cost reduction and the patentee receives the same amount as in the auction
case. Thus, we show that fixed fee policy and auction policy are equivalent

3.1.3. Royalty Policy
In case of royalty policy the patentee charges a payment scheme based on the per unit output

production.

3.1.3.1 Non DrasticCase(0<e < 3)

(1) Suppose the patentee decides to offer one license under royalty (r) per unit of output. Due

to the competition of the licensee and non licensee rival firms in the third stage of the

42
licensing game the patentee would receive the royalty reverue equa to rg@ ; 39. This
e [

expression is maximized with the choice e =r whene £ 3, i.e, if the technology is nor+
, N . . 1
drastic. Thus by licensing to one firm under royalty the patentee receives Ee .

(ii) Suppose the patentee offers two licenses with a royalty rate r per unit of output. When
both the firms have the technology under royalty scheme their effective margina cost of

production would be (c- e+ r) . When both the firms have the same cost of production then



each firm produces output equal % Thus, the payoff to the patentee would be %r +%r =r

Now, given the natural restriction that the royalty payment cannot exceed the amount of cost
reduction e we find that the payoff to the patentee is maximized when r =€, and thus the

total royalty revenue becomese .

Lemma3
By comparing the payoffs under royalty licensing, we find that licensing to two firms is better

than licensing to one firmwhen the innovation is non-drastic.

3.1.32 DrasticCase(e 3 3)

(i) In case of drastic technology if the patentee offers to license one firm there are two
situations to consider. First, the royalty is such that the licensee firm is a monopoly in the
market and the second case is licensee competes with the non licensee and both operate in the
market. The non licensee would remain out of the market if royalty rate r £€- 3. Thus, the
pakentee can at the most get € - 3 by charging the royalty optimally so that the nonlicensee
is driven out of the market due to the cost advantages of the licensee even after royalty

payment. On the other hand if r >e - 3 then the non-licensee would be able to compete in

the market. In this situation the patentee receives rg@- ;+39. This unconstrained
e %]
maximization yields r = 8@%39. Since the optimal r = ge%gghas to be greater than e-3
e (%] e a

(i.e., the condition under which both firms operate in the market) we have the condition e<9.

However, when e 3 9 then to have the non licensee operating in the market the royalty rate

must be high such that r >e- 3 and as a result he patentee gets rg@ il +39. So the

e 6 g

maximum attainable payoff for the patentee is when3£ e <9. However for e>9 the

(e+3)°
24
maximum attainable payoff to the patentee is at the most (e - 3) in the limit. Now comparing
the payoff under different royalty rate and the subsequent market outcome in terms whether

one firm or two firms operate in the market we find the following outcome. For 3£ e <9, the

optima roydty rateis r = @a@ﬁgand both firm operates in the market and the patentee

e 2 g



receives

+ 2
(e 243) . On the other hand for €2 9 then it is optimal for the patentee to charge

r =e- 3 and the whole market is served by the licensee only.

(ii) Now offering the drastic technology to both firms under royalty the patentee can expect to
get r.1. This payoff is maximized when r =e . Thus, e is the optimal payoff when the drastic
technology is given to both firms under royalty licensing. Now by comparing the payoff
from licersing to one firm and two firms we find that the technology is given to both firmsat
a roydty rate e. One interesting point to note here is that even in the case of drastic
innovation both firms will belicensed at a royalty rate equa to the amount of cost reduction.
This feature is something which was never shown before in the literature with an outsider
patentee case.

Thus, we summarize the royalty policy of the outside patentee.

Lemma4
By comparing the payoffs under royalty licensing, we find that licensing to two firms is
better than licensing to one firmwhen theinnovationisdrastic.

Here, we summarize the outcome under the royalty policy.

Proposition 3
Under royalty policy, the patentee always offers two licenses as opposed to one irrespective
of the amount of cost reduction and in both drastic and non-drastic innoation the patentee

receives €.

Now by comparing the outcomes depicted in Propositions 1, 2, and 3we find that if the

patentee opts for royalty, both in drastic as well as non-drastic case it receives €, whereas in

either of other two licensing modes (auction and fixed fee) its gets ée for non-drastic

innovation and (e - 1) for drastic innovation. Thus, we have the main result of this section.

10



Proposition 4
0) In the case of outside patentee, it is always better for the patentee to license out
the technology to both firmsin the market using a royalty contract as compared to
either auction or fixed fee.
(i)  Two firms get licensed under royalty, where as one firm gets licensed in auction
or fixed fee

Here it is important to note that in optimal royalty licensing, under drastic innovation, both
firms are licensed by the patentee. This is a result that has never been shown in the literature
before with an outsider patentee.

4. The Case of Insider Patentee
Let’s assume pre-innovation marginal costs of the firms are ¢, =c, =c. Firm A comes up

with a cost reducing innovation, which lowers its marginal cost bye >0, so that post-

innovation c, =c- e andc, =c.

4.1 NoLicensing
When firm A does not license itstechnology to firm B and both firms compete, then we have
the following.

4.1.1 Non Dragtic Case (0<e <3)

3+e 3-e
D, = d D, =——;
A 6 B 6
(3+e)’ (3-ef
= and = 4
P A 15 Ps T 4
4.1.2 Drastic Case (e 2 3)
D, =1and Dy =0 ;
pA=C-1
p.=(e-1adp,=0 5)

Note that under drastic case: p, 3 2.

11



4.2 The Licensing Game

A licensing game consists of three stages. In the first stage, the patent holding firm A sets a
fixed licensing fee or aroyalty rate.® In the second stage, the other firm B decides whether to
accept or reject the offer fran firm A. In the last stage, both firms compete in prices. Firm A
sets fixed fee or royadty rate in order to maximize the sum of the profit from its own

production and the licensing revenue.

4.2.1 Fixed FeelLicensing

First consider licensing by means of a fixed fee only. Under the fixed fee licensing, firm A
licenses its cost reducing technology to firm B at afixed fee F (say), which isinvariant of the
quantity firm B produces using the new technology. The maximum license fee firm A can
charge firm B, is what will make firm B indifferent between having the license and not
having the license of the new technology. In case the licensing occurs, both firms will

produce at the same marginal cost of (c- e).

4.2.1.1 Non DrasticCase(0<e < 3)

If licensing takes place, each firms' profit, p , =p, :E
1 (3-¢)

Therefore,F = 5" (using (3))

Hence, tota profit of firm A under fixed fee licensing is;

(6)

4.2.1.2 DrasticCase(e 3 3)
1 1 .
F=—-0=— (using(4
5 5 (using (4))

Hence, tota profit of firm A under fixed fee licensing is;
Fo 101
=—+-_=1
Pa=3+3 (1)

Now comparing (4) and (6) aswell as (5) and (7) we get the following.

®The case of auction does not arise here since there is just one firm to license.

12



Proposition 5
Both under non-drastic and drastic innovation, offering no license to therival is better for the
patentee than offering a fixed fee licensing.

This result is interesting because in the situation where the patentee is also a competitor in the
product market, and the competition takes place in price, there will be no fixed fee licensing.
This happens exactly because of the nature of price competition. When the patentee offers a
fixed fee license to the rival, both the patentee and the licensee compete on equal footing, and
the pricecompetition resultsalow profit to both firms. As a result, the patentee cannot charge
a high fixed fee from its rival because the difference between the competing profit and the
reservation payoff becomes small. On the other hand, if the patentee does not license the
rival, it can hold a significant cost advantage when it shares the market with rival in the non
drastic case, which enables the patentee to get a significantly higher profit. On the other hand,
in the case of drastic innovation the patentee actually serves the whole market just as a
monopoly and naturally gets a high profit. Thus offering no license is better than offering a
fixed fee licensing when the patentee competes with the rival in price. Thisisin contrast with
a similar situation when the competition takes place in quantities where under certain
parametric configuration fixed fee licensing is actually better than no licensing (see Wang,
1998).

4.2.2 Royalty Licensing

Under a royalty licensing, firm A licenses its new technology to firm B at a royalty rate r
(say), and the amount of total royalty firm B pays will depend on the quantity firm B
produces using the new technology. In this case, firm A’s margina cost of production is

(c- e) and firm B’s marginal cost of production becomes (c- e +r) if firm B buys the

license. Note that the maximum royalty that firm A can chargeis e (i.e.O<r £e).
Now, if firm B buys the license at aroyalty rater then Dy =% (using (2)

Note that for Dg 3 0, we must haver £ 3

B+r)

Firm A’s profit from competing is: p , = 1

13



4.2.2.1 Non DrasticCase (0<e < 3)
Firm A’s tota profit under royalty licensing is:

2 .
pR = B+, (B0 \which is maximum when r =e(<3).

18 e 6 g

/\
+
AL

o
%
1
)
(@}

Hence, p = +e Q—é )

4.22.2 DrasticCase(e 3 3)
Firm A’ total profit under royalty licensing is.

R +r8@'r9
18 e 6 g

or =)

Unconstrained maximization of the above expression with respect to r, gives r* = 3.75

Note that p ? isaconcave functionin rand it isincreasing forr < 3.75.

Also recal thatDg 3 0, when r £ 3. Hence (constrained) optimal r” in the drastic case is 3.

+30=2 ©)

2
Thus pgz(31’3)

Now comparing (4) and (8) as well as (5) and (9 we have the following.

Proposition 6

Offering royalty licensing is superior to offering no license for the patentee when the
innovation is non-drastic, while offering no license is superior to royalty when the innovation
isdrastic.

In the case of non-drastic innovation royalty licensing turns out to be optimal since by
charging an appropriate per unit royalty, the patentee can hold its cost advantage when it
competes and at the same time collects the extra revenue coming from royalty. Whereas in
the case of drastic innovation, the revenue from royalty part goes to zero, because the optimal
royalty rate becomes so high, the rival chooses to produce nothing. In this case, the patentee

can do better by offering no license at all.

14



5. Incentivefor Innovation
Now we focus our attention to one of the much debated issue in innovation and licensing
literature, namely the incentive for innovation. In particular, we are interested to compare the
incentive for innovation in two cases depending whether the innovator is an insider or an
outsider. Note that the incentive far innovation is what an agent expects as a gain in payoff
from undertaking innovation.

First in the case of insder innovator, the incentive for non-drastic innovation is given
by the difference between its payoff under innovation and selling the license license with the
B+e) +e gél e 1

pre-innovation payoff under old technology, which is given by = =
18 e 6 g 2

While the incentive for drastic innovation is given by (e - 1)- % Recall that in the drastic

case, the innovator does not license.

On the other hand, an outsider patentee always receives a payoff of e from the
innovation followed by licensing, irrespective of the fact the innovation is dragic or non
drastic.

Hence, comparing the two payoffs in these two caseswe find thefollowing.

Proposition 7
Irrespective of the nature of innovation, te incentive for innovation is always higher when

the patentee is an outsider as opposed toan insider.

Thisis an interesting feature of our analysis. It is clear from Kamien and Tauman (2002) that
in Cournot market structure with the number of firm being 2 the incentive for innovation is
higher for an incumbent innovator than an outsider innovator. In the present context, we get
the opposite result.

6. Welfare Analysis

In this section, we highlight the welfare implications of an innovation depending on whether
the innovation is brought about by an insider patentee or an outsider patentee. First consider
the case of outsider patentee. In the case of outsider patentee we have seen that the optimal
licensing policy is to offer aroyalty to both firms with the optimal royalty being the amount
of cost reduction. It is easy to see from the price equation (1) that the price of the product

15



remains the same as in pre-innovation stage for any innovation under the optima royalty
contract As aresult the consumers are not benefited by the innovation. From equation (3) we
aso find that the profit of the two firms operaing in the market remains the same as they
were getting prior to the innovation. Thus the entire surplus is appropriated by the outsider
patentee and it receives the payoff €, which isthe amount of cost reduction. Thus we have
the following proposition.

Proposition 8

When the patentee is an outsider, both the consumer surplus and producer surplus remains
unaffected i.e. they remain the same in pre-innovation and post innovation sage. The whole
gain due to the technology innovation accrues to the patentee and the amount of surplus

generated in the market ise for any degree of cost reductione.

Now, kt us consider the case of insider patentee. Note that the price prevailing in the market
prior to the innovationis p=c+1 (from (1)) and the profit of each firm is % (from (3)).

Now there are two cases to consider deperding on the magnitude of innovation.

Consider the case of non-drastic innovation first, i.e. when (0 <e <3). We have seen that in

this non-drastic case the incumbent patentee would offer the license to its rival under royalty

2
and therefore it would receive the total payoff (from (8)) (3 186) +e 86
e

" ©0and the profit
6 o

2
of the licensee would be (3-e)

. Prices charged by the incumbent innovator ard the

licensee are given by 8%+1- £9 and 8%+1- 39 respectively.
e 3g e 3g

Lemma5
The tange in consumer surplus and producer surplus after innovation and licensing are

given by Sgh 39> 0 and Sg_et- 39> 0 respectively when the innovation is non-drastic.
2é 9g 26 9g

Proof: See appendix.

Hence, change in total welfareisgivenby e > 0.
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On the other hand, in case of drastic innovation (i.e. when e 3 3), the insider patentee would

not offer any license and would charge a price (c- 1) and receive a payoff of (e - 1).

Lemma 6
The change in consumer surplus and producer surplus &ter innovation are given by 2 and

(e - 2) respectivdy when the innovation is drastic.
Proof: See appendix.

Hence, change intotal welfare is given by e > 0.

Proposition9

In the case of insider patentee the consumer surplus as well as producer surplus (i.e. total
industry profit) are higher compared to the pre-innovation stage for any magnitude of cost
reducing innovation (drastic or non-drastic) although the licensee's profit declines in the
post innovation period. Moreover, due to innovation (drastic or non-drastic), the total

increase in society’ swelfareis e.°
Now comparing proposition 8 and 9 we get the following important result.

Proposition 10

Total surplus generated due to innovation i.e. the positive change in welfare from pre-
innovation stage to post innovation stage is always the same (which is € here, the amount of
cost reduction) irrespective of the fact the patentee is an outsider or an insider in each of the

drastic and non-drastic case.

We find this result is really striking and very robust. This allows the policy recommendations
very smple and straight forward. Given a degree of innovation, the policy on advocating an
outsider or an insider patentee is neutral. From society’s point of view this does not make any

difference whatsoever.” Although, the consumers are better off if the innovation comes from

®Note that in the non-drastic case 0 <€ <3 and in the drastic case €3 3.
" Of course, as we show before, the incentive to innovate for any degree of cost reduction is always higher for
the outsider patentee as compared to insider patentee.
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the insider patentee. The consumer surplus does not change from the pre-innovation stage

when the innovation is done by an outsider patentee.

7.Conclusion

In this paper, we focus on the optimal licensing strategy of an outsider patentee as well as an
insider patentee in a spatia competition. In the case of outsider patentee, we show that
auction and fixed fee yield equivalent payoff to the patentee, and only one of the competitors
is offered with the license irrespective of the nature of innovation i.e. drastic or non-drastic.
On the other hand, in the case of royalty licensing both the competing firms are offered with
the license irrespective of the nature of innovation. Moreover, royalty licensing turns out to
be better compared to auction or fixed fee as it always yields higher payoff to the patentee. In
the case of outsider patentee, we also find the interesting result that the licensing takes place
even if the innovation is drastic. We believe this a new result in the literature. In the case of
insider patentee with a rival competitor, we find licensing by means of royalty is superior to
no licensing or fixed fee licensing to the patentee when the innovation is non-drastic. When
the innovation is drastic no licensing is optimal to the patentee. We aso focus our attention to
the issue of incentive for innovation and show that in a spatia framework like this,
irrespective of the nature of innovation i.e. drastic or non-drastic, incentive for innovation is
aways higher for an outsider patentee compared to an insider patentee. Our welfare analysis
shows that total (positive) change in welfare due to innovation is independent of the fact that
the patentee is outsider or insider in each of the drastic and non-drastic case Although, we
find consumers are better off if the innovation comes from an insider patertee as opposed to

an outsider patentee.

18



References

Beggs, A. W., 1992. “The licensing of patents under asymmetric information” , Inter national
Journal of industrial Organization, 10, 171-191.

Choi, J. P, 2001. “Technology transfer with mora hazard”, International Journal of
Industrial Organization,19, 249-266.

Kamien, M., 1992. “Patent Licensing” , InAumann, R. J., and Hart, S. (Eds.), Handbook of
Game Theory, Chapter 11.

Kamiem, M. |. and Tauman, Y., 1986. “Fees versus roydties and the private vaue of a
patent”, Quarterly Journal of Economics, 101, 471-491.

Kamien M., Oren, S, and Tauman, Y., 1992. “Optima licensing of cost reducing
innovation”, Journal of Mathematical Economics, 21, 483-508.

Kamiem, M. |. ard Tauman, Y., 2002. “Patent licersing: The inside story’, The Manchester
School, Vol. 70 (1), 7-15.

Katz, M. and Shapiro, C., 1986. “How to license intangible property”, Quarterly Journal of
Economics, 101, (3), 567-589.

Gadlini, N. and Wright, B. D., 1990. “Technology transfer under asymmetric information”,
Rand Journal of Economics, 21, 147-160.

Muto, S., 1993. “On licensing policies in Bertrand competition”, Games and Economic
Behavior”, 5, 257-267.

Poddar, S. and Sinha, U., 2002. “The role of fixed fee and royalty in patent licensing”,
mimeo, Department of Economics, NUS.

Shy, O. 1996, “Industrial Organization: Theory and Application”, Cambridge, Mass. MIT
Press.

Shy, O., 2000, “The Economics of Network Industries’, Cambridge, Cambridge University
Press

Shy, O., and Thisse, J, 1999. “A strategic approach to software protection”, Journal of
Economics and Management Strategy, 8, 163-190.

Wang, X. H., 1998. “Fee versus royalty licensing in a Cournot duopoly model”, Economics
Letters, 60, 55-62.

Wang, X. H. and Yang, B. Z., 1999. “On licensing under Bertrand competition”, Australian
Economic Papers, 38, 106- 119.

Wang, X. H., 2002. “Fee versus royalty licensing in differentiated Cournot oligopoly”,
Journal of Economics and Business, 54, 253-266.

19



Appendix :
Non-Drastic Case:

The pre-innovation price is given by p =c+1, and the post-innovation price for patentee and
. . b 2e L e .
the licensee are given by p” =c+1- 3 and pt =c+1- 3 (using (1)).

Since the prices of the of the patentee and the licensee are different, the position of the
marginal consumer who is indifferent between going to either of the firm is given by

e‘i+—— We work out the total change in consumer surplus in the following way. First we

eouelgpi eo u

divide the unit interval in the following threeregions: é) 14 e1 1
2¢ ;a

To derive the change in CS in each interval we multiply reduction in price (due to innovation)
with the length of the interval. Recall consumers are uniformly distributed over the unit

interval.
Total changein CS= §+39
2¢ 9gp
2 .. 2 ..
Total changein PS= 8+e) +e 8‘8 €9 (3-¢) -1:385'[_ go
e 6 g 18 2é 9g

Hence, changein total welfare = changein CS + changein PS= e

Drastic Case:

The pre-innovation priceisgiven by p =c+1, and the post-innovation price for the patentee

isgivenby p=(c-1).
Thus, total changein CS =2

The preinnovation profit of each firm is given by % and the post-innovation profit for the

patenteeis (e - 1)
Total changein PS = (e - 2).

Hence, change in total welfare = changein CS + changein PS= e
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